Puzzle #222
[image: image1.png]If a family has two children and the
older child is a girl, there is a 50%
chance this family has two girls. But
what if I make the following statement?

“In a family with two children, we know that
one child is a girl. What is the probability
the second child is a girl?”

Is this statement equivalent to the first
statement? Is the probability still 50 %
or a different percentage?




Puzzle #222

Answer

[image: image2.png]There is a 1/3 probability the family will have
2 girls. In the first case, a two-child familg
has 4 possible outcomes: (B,B), (G,G), (G,B),
(B,G). Since you know the older child is a
girl, you can eliminate (B,B) and (B,G),
leaving two choices. One of these choices is
(G,é)——which is 1 out of 2 possibilities.
But in my statement, all we know is that one
child 1s a girl and that means the (B,B)
ossibility cannot exist. That leaves three
other possibilities and that means a 1 out of 3
chance the second child is a girl.










